B(’GFCI‘C-'LL:“'(’\‘."" o€ 6“%

0{ 2C 2C
— c =
A -
ﬂ& k;c
e = )
- ke
£ ronp les
/( e-z,& _ L X
" 2 <
A g6 )y
‘i = »—42’%
J 70
2 _ e ! =
p{j _o-le_—o 73
M Q¢
[ 27
x 2.e = &< Q
—r/‘fﬂ
Sin@ = —0.43 0 €036
2.f . S‘V:l(~o 4‘3)
3 '%\ S J
\_/](- _Zs-‘{o
B =z08.7°
S =134.7°



< A Slv;'(o-e(,'&)

= 2v.75°
zW-r o (3 = 205.%° ) 334.1°
T C
- @
Eoac® = —2.1 Lav 2.1 < 6% ¢
S a
“s \ Q = I/S_.(‘
\ la-s G = 2a¢.¢
T C
£ » e -
Ce$§26 = 0-2% o = 0 2360

cos 028 = 1¢.¢°

°o@ = 55 284-F 43(&)444-:

qf'r ¢ ,) ° o)
e & = 31.8° 145, 207-8) 322.3

T c




